



Professionalism, effectiveness and commitment to quality are the key elements that were paramount in the creation of the prestigious Richmont brand. Everyday we work to ensure and solidify Richmont as the epitome of good taste, elegance and sophistication. Available in only hotels, restaurants and day spas, our golden and aromatic brews will invite you and your customers on a journey full of inner sun, warming contentment and invigorating aromas, which is, the fascinating world of Richmont teas.

Thanks to our expertise, knowledge and the passion of our taster, each new day sees RICMONT creating new tastes and experimenting with new teas, striving to continue to provide fresh, unique and high quality blends to our customers.



serving method – leading to an indulgent experience for all.

It is an established scientific fact that we forge impressions and create memories through the feeling experienced through the dominant senses (which in most is sight, smell and taste). Richmont Tea, with its delectable aroma and taste, coupled with the unique design of both our packaging and infusion system, will leave your guests with a lingering bliss that will only add to their pleasurable stay with you, thus forging a memory that will last a lifetime.



More than just a cup, our unique concept is made from high quality porcelain that is strong and durable, able to resist breakages that would ordinarily arise from the simple knocks of day-to-day activity. Inherent in its shape, is the ability to keep your brew hot for longer than the average tea pot, providing an added convenience to your customers, should they wish to savior their Richmont experience that little bit longer.





Item	Product	Cost Price	Cost Price	RSP	Minimum Order
Code	Description	Per Tea Bag	Per Box	Per Serve	Per Box
BCC12	English Breakfast - 12 Tea Bags	\$1.47	\$17.64	\$8	1
DM12	Earl Grey Blue - 12 Tea Bags	\$1.47 \$1.47	\$17.64 \$17.64	яо \$8	1
EB12	Black Chili Chocolate - 12 Tea Bags	\$1.47 \$1.47	\$17.64 \$17.64	\$8	1
EGB12					
FF12	Gunpowder Green - 12 Tea Bags	\$1.47	\$17.64	\$8	Ming
THE RESERVE TO SERVE THE PARTY OF THE PARTY	Green Jasmine - 12 Tea Bags	\$1.47	\$17.64	\$8	
GG12	Green Mint - 12 Tea Bags	\$1.47	\$17.64	\$8	
GJ12	Rooibos Sunrise - 12 Tea Bags	\$1.47	\$17.64	\$8	219 12 35
GM12	Dream Melissa - 12 Tea Bags	\$1.47	\$17.64	\$8	
MD12	Melon Min - 12 Tea Bags	\$1.47	\$17.64	\$8	Line La
MM12	Dream Melissa - 12 Tea Bags	\$1.47	\$17.64	\$8	
RS12	Mexican Dream - 12 Tea Bags	\$1.47	\$17.64	\$8	1-1-1
SC12	Forest Fruits - 12 Tea Bags	\$1.47	\$17.64	\$8	1-4
BCC50	English Breakfast - 50 Tea Bags	\$1.17	\$58.50	\$8	3 mm (1 1 1)
DM50	Earl Grey Blue - 50 Tea Bags	\$1.17	\$58.50	\$8	113
EB50	Black Chili Chocolate - 50 Tea Bags	\$1.17	\$58.50	\$8	1
EGB50	Gunpowder Green - 50 Tea Bags	\$1.17	\$58.50	\$8	1.0
FF50	Green Jasmine - 50 Tea Bags	\$1.17	\$58.50	\$8	1
GG50	Green Mint - 50 Tea Bags	\$1.17	\$58.50	\$8	1
GJ50	Rooibos Sunrise - 50 Tea Bags	\$1.17	\$58.50	\$8	1
GM50	Dream Melissa - 50 Tea Bags	\$1.17	\$58.50	\$8	1
MD50	Melon Min - 50 Tea Bags	\$1.17	\$58.50	\$8	1
MM50	Dream Melissa - 50 Tea Bags	\$1.17	\$58.50	\$8	
RS50	Mexican Dream - 50 Tea Bags	\$1.17	\$58.50	\$8	1
SC50	Forest Fruits - 50 Tea Bags	\$1.17	\$58.50	\$8	1
DPS	DUO Porcelain Set	\$14.80 Per Set	\$177.60	\$0	12

